(P-Po)/Po

Flrst PrlnC|pIes Equatlon of State of B4C

T T T T T T T

] = ez . [ ] s —

O OO | = . ""T:““ il - _|
| . /"“‘ ‘/d” 1

B iﬁ ,//‘// —

B o / / /’ _|

S ¥ 7
—0.05— - : Yy v _
] 4

i s/ & / |

i / "/ ! i/ N

B ) / ~ !! ]

: 1 il _

: /

—0.10+ y —
. L : ! I_ii B

| :./l I! ili _

L I / :' _

B !<>~ / B

59 |
—0.15— fl / N
I /I ]
!:I /
| I. ,'l _|
B .'. _.-'I ," i plg/cc]=50.174 Debye plasma model i
—0.20 ' ! ! === p[g/cC]=50.174 FPEOS

B / I / ——e — plg/cc]=11.289 Debye plasma model |
e i ! ===(D) = s+ p[g/cc]=11.289 FPEOS 7
B i ! plg/ccl= 2.509 Debye plasma model
B Lm i ! | —D—p[g/cc|]— 2.509 FPEOS -
—0.25 T (R R R | I IR

10° 10’ 108 10°
Temperature (K)



